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° Watch Video Solution
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Answer: A
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Answer:

° Watch Video Solution
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https://dl.doubtnut.com/l/_EUiwMKhbNHjh
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Answer: B

° Watch Video Solution
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https://dl.doubtnut.com/l/_fcLJQBao4wYP
https://dl.doubtnut.com/l/_9B5h0MexgAPD

D.6

Answer: A
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Answer: C
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Answer: D
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° Watch Video Solution
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Answer: A

° Watch Video Solution
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Answer:
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Answer: D
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° Watch Video Solution
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o Watch Video Solution

35. 456 SIS 797 32T IfFietiq 2 o R%g 93¢ 4 6 wx

giat sif5o o, AT 49X S0 XAT A1 OlRE JAB A A5


https://dl.doubtnut.com/l/_r2YPjES73z8s
https://dl.doubtnut.com/l/_RngLPJMIki6e

I& (16 SITGIF 12T * @

A. 26 x 10
B.26P2 XlO P4
C.2p, x 9 x10 P

D.26% x 9 x10 ~ 3

Answer:

° Watch Video Solution

36. 'IRRATIONAL’ X&1fod JII3fT WIihd I1deid B Josfa
37 (7Yl 1Y, ©id YT 207

10!

A.
(21)°



https://dl.doubtnut.com/l/_RngLPJMIki6e
https://dl.doubtnut.com/l/_hruylEuAG2KV

10!
(21)?
10!

21

D. (10!)

Answer:
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Answer: C


https://dl.doubtnut.com/l/_QLhLY6YlXpZt
https://dl.doubtnut.com/l/_do8OL0e4IMuj
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Answer: D
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Answer: B
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Answer: B
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AO
B.2
C. 4

D.1
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63. IH A aR B HLG  ToAT G
P(AC) — 0.3, P(B) = 0.4, P(A N BC> ~05 =,

WP(B | A UBC) SRR DI


https://dl.doubtnut.com/l/_6i0zzLHrAF57
https://dl.doubtnut.com/l/_OTigv9ccw4Si

Wl o= W= =

Answer: A
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Answer: C
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Answer: B
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Answer: C
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B. — + log, 2
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Answer: C
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